L Pl
- Ay
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Course Tide: Stacistical Methods
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(1) Which of the following are true for all sels of datn?
(a) AM =< Median = Mode (b) A.M = Median = Maode
- {c) AM = Median = Mode (d) None of these

{2) 10 is the mean of a set of 7 observations and § is the mean of a set of 3 observations. The
~ mean of a combined set is given by

(b) 10

(d) None of these

s coefficient of correlation is independent of

(a) Change of scale only (b) Change of origin only
(c) Both change of scale and origin (d) Neither change of scale and origin

{4) When r is zero the regression cut each other making an angle of

{H) Sﬂu (b) 60
Bl (d) None of these

(b) 0.25

(d) None of these
dependent, the conditional probability of A given B,i e, PA )
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{h) Grﬂﬂi-'-.l' than one

(d) Zero

: thenthe
. ”*tl't_uan and variance of Binomial distribution are 8 and 4 r:spectwa]}‘ @%h{% :

(a) 12 (h) 16
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(9) If a test reject the null hypothesis when it 15 true, we call it

(a) Type I error (b) Type 1l error
(¢) Either (a) or (b) (d) None ol these

(10) Which of the following index satisfied both Time reversal and factor reversal test

- (a) Laspeyre’s Price [ndex (b) Paasche's Price Index

:': {c} Fishﬁr's PI'I“:E lndex {d_} Walsch's Price Index

Section B (Short Answer type Questions)
Note: Answer all the gquestions. Each question carries eight marks. §%5=40

Unit-1

(1) The expenditure of 1000 families is given as under;

aelig e |

Expenditure (Rs.) 400-600 600-800 800-1000 1000-1200 1200-1400

L

A lies 50 ? 500 9 50 i

and mean fr.:«r the distribution are both Rs.900. Calculate the missing frequenme&m s
11"*:1--.

Or

e the matﬁcmancal pmperues standard deviation.

Unit-11
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Y are CONnecied by the linear gquation ax+by+c =0, then the correlation

and yis {4 t] ifi'\E Eiﬂﬂﬁ of a and b are dilTerent and (-1 if the sign ol a

§ o Vs SR Unit-111
; %ilﬂhdﬂm variable X has the following probability distribution
i L B | > 3

Py 0. K 0.2 g 0.3 VK
fa) Frna the value or K
) Evaluate P(A<2) and (-2<X<2)
{¢) Find the Cumulative Distribution Function (CDF) of X.
(d) Evaluate the mean ol X.
Or
What is Bayes's Theorem? In a factory, the machines A, B and C manufacture respectively
30, 25 and 45 percent of the total product, Of their 3, 5 and 6 percent respectively are
~ defective product. One product is drawn at random from the product and is found to be 4
“defective. What is the probability that it was manufactured by machine A? e

Unit-1V E

{4) Why is testing of hypothesis at all necessary? Describe the various steps involved in
testing hypothesis. What is the role of standard error in testing ol hypothesis”?

Or
Eight unbiased coins are tossed 256 times and the following results are obtained:

No. of heads () | 2 3 4 3 6 7 8

ﬁ No. of Frequency 2 6 30 52 67 56 32 10 1
T .

: whether the observed and expected frequencies are significantly different from each
Tab Chi-square =15.5)

: ~=’ i Unit-V
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sarious steps and probiems involved in the construction of index numbers.

Or

e various methods of measurement of the trend component of time series. Which
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Seutlun L {Lung Anﬂvﬁr Iy pe Questions)

‘“l"’ *hr“ questions, I5yeh question carries 15 marks,

._;___.Ehinf sources of secondary data and point out the dangm m‘-fﬂl ved in th
ﬁi.'ms are necessar

Y before using such data? “A Eﬂ'-'-‘ﬁﬂdi y so
r{w.k _pnmary source™ Justify the statement with your arguments.
e ) In the frequency distribution of 100 |

comesponding to expe
the median i«

amilies given below, the number of f

nditure groups 20-40 and 60-80
known 1o [3¢

Expenditure: U-20  20-40 40-60 60-80 RO-100
No. of families: 14 ‘

P ! |

(2} A researcher wished to know if

are missing from the table. However.
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proliciency in Mathematics and Statistics had any -
relationship with performance in Economics. He took a random sample of 7 students from a
class of 20 students and recorded the marks secured in the three papers:

Economics: 30 40 30) 25 G0 55 70

- Mathematics: SUE R S0 2085 a0 - 080, 0 70 e
 Statistics: S0 60 40 45% 70 i a50aaD |
Calculate the regression equation of marks in Economics on marks in MﬂlhemaT:Ir:s and ma:.'_k; e
-j;n S‘I‘.aﬁsﬁcs and e:-s.timal.e the pml:nhl:.. nﬂrks 'm Economics of a student securing 65 and 5

: 9

> f&) What are the conditions ur!u:!er uhu,h P::-w-:cm distribution are used? Give any two
- B

examples of Poisson distribution. Derive the probability function of Poisson distribution.
Also calculate the mean and variance of Poisson distribution,

(4) (a) Discuss the concept of an estimator and its sampling distribution with a suitable
- example. State and explain the desirable properties of a good estimator.

wi(h) Exp!ain the concepts (i) Confidence intervals  (ii) Level of significance
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